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SA - ZE - BR(30) - HRA - B of v e HIDE2
403 X SHHMSAH=01H 25,000 25,000
01 AXISHHA =2 & 25,000 25,000
Ol Hdoldg Wsd JIs=2H 25,000
e QIS LRI 334,657 398,4% 63,838
308 AXIHSO0IA 334,657 398,4% A\63,838
01 HAHHBSEEXS 323,617 387,455 A\63,838
OWdolEiedHe =29 259,983
OXNSHE AN XIS 22,234
OMEHIE FEHetZst 41,400
18 SIS0t & HAS A 11,040 11,040 0
OMHIE Fdar2ds(2dd) 11,040
MEHdE NE29 4,669,049 4,669,049 0
[ 3,868,045
= 801,004
308 AtXIEMSOIE 4,669,049 4,669,049 0
[ 3,868,045
= 801,004
01 AN N B2 LS 4,151,475 4,151,475 0
OMLUE XIE29 4,151,475
= 3,609,258
=S 542,217
18 SIS0t oA AS A 517,574 517,574 0
O Mt XNE2g 517,574
= 258,787
= 258,787
JHEHEHIHS A 226,761 226,761 0
Jl 226,761
308 AXIHMSOIA 226,761 226,761 0
) 226,761
01 RSN EES 226,761 226,761 0
OZHHENLFE XA 226,761
Il 226,761
Cteret Jr=0l thet X3 53,421,451 52,150,524 1,270,927
= 16,797,522
Jl 27,096,426
== 10,195,478
= 332,025
SHRIIIEXA 935,340 831,465 103,875
308 AXIMSOIA 935,340 831,465 103,875
01 XN BSELES 935,340 831,465 103,875
ONMtizZa 2L 83,340
Ot RIS o™X 852,000
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SRS SXAI4E X3 346,585 282,640 63,945
308 XHXIEMSOIH 346,585 282,640 63,945
01 XN B2 LS 346,585 282,640 63,945
OBRDINESTAIE THASS DT 2,700
OBI2DNE=NAL S4T VAR 4,200
OB BIERTIAIE BAK BUZAH| X
= 3,600
ORZ2IESXAIE SAHL ML EHI 12,456
OtRRIESNAE 28 323,629
SHRRIIES ¢SHl S N& 24,714,000 24,714,000 0
) 21,968,000
= 2,746,000
308 AtXIEMSOIE 24,714,000 24,714,000 0
Il 21,968,000
= 2,746,000
01 AN N B2 LS 24,714,000 24,714,000 0
O8R2It=E L=l s X 24,714,000
Jl 21,968,000
=S 2,746,000
FAERR SN0 X2 342,000 266,600 75,400
) 304,000
< 38,000
308 AXIHSOIA 342,000 266,600 75,400
Jl 304,000
= 38,000
01 HAHHBSEXRS 342,000 266,600 75,400
O&FAY 8R2 SXs0 X 342,000
Jl 304,000
= 38,000
HFAESEE TEAIRIII 82,550 85,670 23,120
Jl 63,500
< 19,050
308 AXIHMSOIA 82,550 85,670 A3,120
) 63,500
< 19,050
01 MAHHBSEEXS 82,550 85,670 A3,120
OHEAHESRR2 AKX HIIKX 82,550
Il 63,500
= 19,050
DIEER S s=2R2I=E NS 5,700 4,162 1,538
308 XXM SOIA 5,700 4,162 1,538
01 AXNB 2 LS 5,700 4,162 1,538
Ollg2® s &cl8A &8N 5,700
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SIREIIESIAE 4T o822 X 38,250 27,950 10,300
Jl 22,500
== 16,750

308 AHXIEMSOIE 38,250 27,950 10,300
) 22,500
< 16,750

01 HASHHBAEEXS 38,250 27,950 10,300
Ot RIESIAE 41 4828 X&H 38,250
Il 22,500
= 15,750

SIREIIE HYLUFE(SSHEIIEE) FAHAXR 83,856 52,280 31,576
Jl 83,85

308 XM SOIE 83,856 52,280 31,576
Il 83,856

01 XN B2 LS 83,856 52,280 31,576
OtFRIIE LU =HXZ 83,856
Jl 83,856

SIRDIIE=IAE JIsES 56,916 50,765 6,151
Il 37,944
== 18,972

403 MR HMSAH=01H 56,916 50,765 6.151
Jl 37,944
[ 18,972

01 MXIHHA 22 56,916 50,765 6,151
ORRIE=IANE JIsES 56,916
Jl 37,944
= 18,972

SIREIIESXAE Ol0ISsSAHlIA X 116,528 46,369 70,159
7l 89,637
S 26,891

308 XXM SO0IH 116,528 46,369 70,159
Il 89,637
== 26,891

01 XN BSELES 116,528 46,369 70,159
OetRZIIE=XIAIE 010l MNelA X 116,528
) 89,637
< 26,891

SIRIIIE=SXIAE BiX ALE] & 2l Bl XI& 19,088 23,660 N4,572
Jl 19,088

308 AXIMSOIA 19,088 23,660 N4,572
) 19,088

01 AXH B2 LS 19,088 23,660 N4,572
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Chelr Chst D=0 CHEE XIA (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SIEDIIESXAIE X AlE=22ed 2
S84l A& 19,088
| 19,088
A20HE & ORSOIEXJAMAH 29 (AlI2) 4,024,371 4,173,585 A149,214
| 3,095,670
& 928,701
308 AHXIHMSOI & 4,024,371 4,173,585 A149,214
| 3,095,670
= 928,701
01 AIXISHNHBAEES 4,024,371 4,173,585 A149,214
OJ=dH 29 3,637,673
| 2,798,210
& 839,463
OAHBIEXEHH 29 386,698
| 297,460
T 89,238
AN % URSDIENRME SR HLHAL X 9,480 9,240 240
&
307 212+01™ 9,480 9,240 240
10 Al =S XA EEHE2IHIE X 9,480 9,240 240
O URSIINEXNJANEEH HAZAH|
K& 3,360
OBY DREISNRHZHE SAR M2
&I 6,120
AZHE G2 SXJAHE SAHRE o148 XI& 250,276 217,421 32,855
307 212+01 ™ 1,970 8,679 26,709
10 Al S XA EEHE2IHIE X 1,970 8,679 26,709
O=g USSR HEH SAHR 2124d|
FIOE(E) 1,970
308 AXISHMSOIA 248,306 208,742 39,564
01 XX B E LS 248,306 208,742 39,564
OAZIHE, UE2EF X2 4H SAA X
SIEH|, dHZAH|, lAE] FIKIR 248,306
SELE U2SDIIEXNANEEH 29(%) 42,300 42,300 0
| 21,150
& 21,150
307 212+01 A 42,300 42,300 0
| 21,150
= 21,150
10 Al =S XA EEHER2IHIE X 42,300 42,300 0
OZEUEIIEXNIANEHH 2R3 42,300
| 21,150
& 21,150
Ct23IE X3 HE K& 413,972 413,192 780
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7l 318,440
=S 95,532
308 XXM SOIA 413,972 413,192 780
Jl 318,440
== 95,532
01 XN BSELES 413,972 413,192 780
Ot=2=IEXJHE 28X 413,972
) 318,440
& 95,532
A2 HHXIXIR (CH23t) 31,746 31,746 0
Jl 31,746
308 AXIHMSOIA 31,746 31,746 0
) 31,746
01 AXEHHBSELES 31,746 31,746 0
OAt2=223 BiXIXISH 31,746
Il 31,746
IESEH A 575,718 600,207 AN\24,489
= 442,860
= 132,858
308 XtXIEMSO0IE 575,718 600,207 N24,489
= 442,860
== 132,858
01 XN B2 LS 575,718 600,207 N\24,489
OJt=slgedy X 575,718
= 442,860
< 132,858
10k XI& 444,500 145,000 299,500
201 fer=3| 4,500 0 4,500
01 AtR2tc|Hl 4,500 0 4,500
o107 & IHEEH 823 29 4,500
307 glztol & 100,000 100,000
11 AMEISXIAEEES 100,000 100,000
O120k+ &dlXIE AFE S 100,000
308 AXIHSOIA 340,000 45,000 295,000
01 XN BSELES 340,000 45,000 295,000
Osgd 120k N2 =8 90,000
o107 & HAAS AL X3 250,000
SIS Atel3td X 15,000 20,000 /5,000
308 XXM SOIH 15,000 20,000 A5,000
01 RSN B EES 15,000 20,000 A5,000
OR=Folg dA 15,000
otol=SXIH 17,452,795 17,452,795 0
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ot Crerst R0l et X1 (St &)
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= 16,234,662
=S 2,218,133
307 lztol & 595,324 595,324 0
= 297,662
== 297,662
03 PIHHEE 22X 595,324 595,324 0
O00I=SZ XA 29 595,324
= 297,662
& 297,662
308 AFXIEHMSOIE 16,857,471 16,857,471 0
= 14,937,000
= 1,920,471
01 RSN EES 16,857,471 16,857,471 0
Ootol==X# 16,857,471
= 14,937,000
s 1,920,471
SS=0LsH 29 1,520,660 1,148,032 372,628
) 965,89%
& 289,765
= 265,000
308 XXM SOIH 1,520,660 1,148,032 372,628
Jl 965,895
< 289,765
= 265,000
01 AXH B2 LS 1,520,660 1,148,032 372,628
O3SS0tL=H 2 (RsEH) 1,520,660
Jl 965,89%
s 289,765
= 265,000
ss3sH N 97,500 97,500 0
Jl 75,000
=S 22,500
308 XXM S0l 97,500 97,500 0
Jl 75,000
< 22,500
01 XN BSEES 97,500 97,500 0
O==sssH A& 97,500
Jl 75,000
= 22,500
Y UEs - =0 FUARISE X2 587,783 513,688 74,095
[ 520,758
= 67,025
201 2egh=3| 5,100 5,100 0
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 5,100 5,100 0
OsEU=aHE A 2Y 5,100
308 AXIHSOIA 582,683 508,588 74,09%
= 515,658
= 67,025
01 HASHHBSEXS 582,683 508,588 74,095
Oy A= =0 SEAE SHH =29 582,683
== 515,658
£ 67,025
g FUASE 25 NF 21,250 21,250 0
307 elztol & 21,250 21,250
11 AMEISXAEEE 21,250 21,250
OMIAIRISl & D18 =H KA 21,250
CHESHE d=SI1RI A 577,687 571,687 6,000
308 AXIMSOIA 577,687 571,687 6,000
01 HAHHBAEES 577,687 571,687 6,000
OAHEA LH220EXRHH 2SXE 56,687
OU2A=SAIE 465,000
O22E0ls 4& XNZ &1 0lchH AL 20,000
Oti2st d4d 028 238 20,000
OUEahHe SZEZHE 28 16,000
FAERLD otse=sH N2 156,000 307,320 /151,320
= 120,000
= 36,000
308 AFXIEHMSOIE 156,000 307,320 /151,320
= 120,000
= 36,000
01 AXEH B2 LS 156,000 307,320 151,320
OFAHERER Ots2=H| K& 156,000
= 120,000
== 36,000
SHEYT IS4 459,600 459,600
307 el2to| & 459,600 459,600
05 212t =S 459,600 459,600
OsEET IIFHH 459,600
HdeldaEs 2 ol 9,141,004 8,319,391 821,703
= 82,673
) 5,041,087
< 4,017,334
SHUHA SEHEXNELH =29 A& 300,000 300,000
207 ARl 300,000 300,000
02 MAHHEHH] 300,000 300,000
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| O=main dgxg Arg 25 300,000
ZAUHL 25 - NBAE AKX H2HA 915, 143 842,340 72,803
307 DI2H0IE 248,000 202,200 45,800
CEN R TEES 248,000 202,200 45,800
OZHWBHN 5 - NBAE SAT W2
(%) 248,000
308 KIXIEHRISOI® 667,143 640140 27,003
01 RIXISHHZ AP 667,143 640,140 27,003
OZAWHI 25 - NBAIE SAK HH
H(AZ) 667,143
A0 L AILSAN AR M 53,680 21,280 32,400
307 LI2H0IE 43,680 21,280 22,400
PEIRERNEEES 30,000 0 30,000
OSSN 25 - NBALE SAK 222
at 30,000
ERNE N EES 13,680 21,280 AT,600
OZH0Us Ast Jl2se HAEY 13,680
308 KIXIEHRISOIE 10,000 10,000
PR EE == 10,000 10,000
OJIB=2 (lgg 918 2260l HAEE 10,000
=2 9y Y WK 381,23 320,806 60,426
307 LI2H0IE 20,000 20,000 0
10 ABISXAN SRS A EE 20,000 20,000 0
OAZWLH 29(%) 20,000
308 UXISHSOI 331,23 250,808 80,426
01 RIXIEHH Z AP E 3 31,2 250,806 80,426
OASWLH 2H(AZ) 97,243
OZdusags 22 Xa 233,980
408 X SIS RHE0IH 30,000 50,000 A20,000
01 NS =L E 30,000 50,000 20,000
OBHMHT FSNVAL IS 30,000
01523 TE 1366ME 2SN 721,604 720,804 800
] 360,802
= 360,802
307 QI2H0I& 721,604 720,804 800
] 360,802
= 360,802
CCE R TEES 721,604 720,804 800
O0HZ T3 1366ME AN 721,604
5] 360,802
= 360,802
Oi&2I 23 1366MIE SAXAOIS2) 25,000 22,000 3,000
] 12,500
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< 12,500
402 2IZtA=01d 25,000 22,000 3,000
Il 12,500
= 12,500
02 RIINEASEZ(0IETHR) 25,000 22,000 3,000
ONd2ISd3s 13664 JIsE22d 25,000
7l 12,500
= 12,500
=g 29 X 994,413 990,216 4,197
Jl 662,942
< 331,471
308 AXIHMSOIA 994,413 990,216 4,197
) 662,942
& 331,471
01 HASHHBSEXS 994,413 990,216 4,197
Org=84ga 28 A2 994,413
Il 662,942
= 331,471
JHE=ATIcHA 2 =Hl X 32,920 38,412 Ab,492
Jl 25,628
s 7,292
307 elztol & 12,000 12,000 0
Jl 8,400
< 3,600
1 AMEISXAEEXS 12,000 12,000 0
OJtEZHTIGHAF 2=Hl XI|(E) 12,000
) 8,400
= 3,600
308 AHXIHMSO0IA 20,920 26,412 Ab,492
Jl 17,228
= 3,692
01 AXNBEES 20,920 26,412 N5, 492
OJIEZHTai X 22| XI&(Al2) 20,920
Il 17,228
== 3,692
I ZHTOHA ESAE 2SR (A2) 1,044,381 1,026,305 18,076
) 886,714
= 157,667
308 AtXIEMSOIE 1,044,381 1,026,305 18,076
Il 886,714
= 157,667
01 AXENBE LS 1,044,381 1,026,305 18,076
OJIE=HTIch A EIAX MHEXES 70,000
— 11 —
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 70,000
OIS = UoHA MNP Ee| 13,619
Jl 11,216
= 2,403
O ZATHANZSAIE HI=S X M 80,932
Jl 80,932
OIS =LAt 23 AE 28X 879,830
J| 724,566
=S 185,264
IR EZIIHA 23AIE 2SR (AMZ/0ISEZ) 27,855 41,655 A13,800
Jl 18,570
< 9,285
403 MR HHMSAHE01H 27,855 41,655 13,800
Jl 18,570
= 9,285
01 AXISHA=2E2 X 27,855 41,655 A13,800
OJtEZLTIcHAt ESAIE JIs2 27,855
Jl 18,570
= 9,285
ALlHHE FHXRAAYE 2R 70,006 70,006 0
Il 57,652
== 12,354
308 AHXIEMSOIH 70,006 70,006 0
Il 57,652
< 12,354
01 MAHHBSEEXS 70,006 70,006 0
OFgUlid F=AHXNE 2SN 70,006
Il 57,652
= 12,354
ZHLHNE FAXE 2UHESS 1,660 1,300 360
Jl 1,660
403 AXIEHMSA=Z0l1d 1,660 1,300 360
Il 1,660
01 A= 2L 1,660 1,300 360
OFHUood =HXE sUE2SS 1,660
Jl 1,660
JFEEATIcHA XZelsE2 03829 113,530 113,530
Il 93,495
== 20,035
308 AHXIEMSOIH 113,530 113,530
Jl 93,49%
[ 20,035
01 HAHHBSEEXS 113,530 113,530
— 12 —
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O ZL oAt Xgs22 08 23 113,530
Jl 93,495
== 20,035
JHEEZ0MNA wEXNSE2 08 29 42,258 42,258 0
Il 34,801
= 7,457
308 AXIHMSO0IA 42,258 42,258 0
Jl 34,801
= 7,457
01 HXSHH B EES 42,258 42,258 0
OJMEZtehA nEXsE208 29 42,258
Jl 34,801
=S 7,457
AE2 oA X1 150,700 0 180,700
) 79,930
& 70,770
307 @12H0| & 150,700 0 150,700
Il 79,930
= 70,770
10 Al SXAEEE 22X 150,700 0 150,700
OAE2 Lokt 218F=HXI& 127,800
7l 63,900
= 63,900
OAE2IiA XSS 2 03 22,900
Jl 16,030
[ 6,870
sdtetlde 2SI 1,160,493 1,069,046 91,447
Il 812,344
= 348,149
307 2120l & 1,160,493 1,069,046 91,447
7l 812,344
= 348,149
10 Al2IS XA EEE 22X 1,160,493 1,069,046 91,447
Odhbe|Me 29 X2 1,160,493
Il 812,344
== 348,149
ShoreIMIE Js8 40,000 40,000
402 2IZtA=01d 40,000 40,000
01 QIZENHE AL 2 (RERITH ) 40,000 40,000
OdhbtebldE JIsE2(%E) 40,000
gdEHU6IA FUHHIE X=zsd, =308 A3 59,100 53,400 5,700
Jl 41,550
= 17,550
— 13 —




=

A HEIISE M2
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Sl (MQIAES Y (g (649): &
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
307 212+01 A 59,100 53,400 5,700
| 41,550
= 17,550
11 AL =SXAMEES 59,100 53,400 5,700
O ==Tloi At 2OEISXIA (olitetd | dIE) 16,500
J| 11,550
= 4,950
Od =S|l X SSHIsXI2 (alibtetd|HE) 600
| 600
O =TIkt XIS SSXIA (olutetd | dIE) 42,000
| 29,400
& 12,600
S=" Ilof A=A 2EXR 1,009,461 1,004,061 5,400
| 672,974
= 336,487
308 AHXIHMSOI & 1,009,461 1,004,061 5,400
| 672,974
= 336,487
01 X SHBAEERS 1,009,461 1,004,061 5,400
Od=4 Il &g 22X 1,009,461
J| 672,974
= 336,487
SEZHUIHAESAIE K& 282,926 330,249 A47,323
| 234,610
& 48,316
308 AEXIHMSOIH 282,926 330,249 A47,323
| 234,610
& 48,316
01 IXSHHBLERS 282,926 330,249 A47,323
OdZMINAESAIE X (== 42H]) 9,139
| 9,139
OXdZETIIANESAIE X (29HI) 273,787
| 225,471
= 48,316
SAZSTIcH A 22|, 2HeH] KR (%) 111,831 63,011 48,820
J| 78,281
T 33,550
307 gI2Hol 111,831 63,011 48,820
| 78,281
& 33,550
11 Al SXAEE X 111,831 63,011 48,820
O ZHTIoH At 28I X (cHdtetI I HE]) 108,974
| 76,281
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SN OEIIET
M HdsEHeY 2 =X 25
CHel: GiMOIAES U ol (e =
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 32,693
OdZ= Mo At 2HHHI X (GHbtetIIHIH) 2,857
Jl 2,000
= 857
AZSMGHA 22|, 2HHH| XIR(AIZ) 23,511 16,286 7,225
Jl 19,362
== 4,149
308 AXIHSOIA 23,511 16,286 7,225
) 19,362
< 4,149
01 HAHHBSEEXS 23,511 16,286 7,225
O&ZHIIoi A 2AZHIXIA(AIZ) 23,511
Il 19,362
= 4,149
SZA0oi A NS E20H 2 86,469 86,469
Il 71,210
=S 16,259
308 XXM SOIH 86,469 86,469 0
Jl 71,210
< 15,259
01 XN BSELES 86,469 86,469 0
OdZHIiAt Xgs=sE20d8 24 86,469
) 71,210
& 16,259
CIXE d48% S22 08 XZ A 85,000 0 85,000
= 42,500
= 42,500
307 elztol & 85,000 85,000
= 42,500
s 42,500
11 AMEISXAEEXS 85,000 85,000
OtINg g8z SstZz 18 Xd 85,000
= 42,500
[ 42,500
CIAEdHA OoiXd EEAZ2YH & delXgH 89 6,070 8,670 A2,600
308 AtAIEHMSOIE 6,070 8,670 A2,600
01 X HHNBAEXS 6,070 8,670 22,600
OUXEd=s Ioikld HENSEH L &
cIXIZE 23 6.070
CXNELEA Hgus 40,000 40,000
307 lztol & 40,000 40,000
11 AMEISXAEEES 40,000 40,000
OUXELZEs Hgus 40,000
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M HdsEHeY 2 =X 25
Sl MRS U oY (ctol: &
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SOHOHIIOH A+ XIZAIE & A=A 29 393,222 391,262 1,960
Jl 302,143
== 91,079
308 AXIMSOIA 393,222 391,262 1,960
) 302,143
< 91,079
01 HASHHBAEEXS 393,222 391,262 1,960
OEHORIION A+ XIZAIE & &84 29 393,222
Il 302,143
= 91,079
SOHOHIIOH At =X 49,594 49,594 0
Jl 40,842
=S 8,752
308 AHXIEMSOIH 49,594 49,594
Jl 40,842
< 8,752
01 XN BSELES 49,594 49,594 0
O&OHOHIION At R EXIR A 49,594
Jl 40,842
= 8,752
SOHOHTIOH At X202 JIsEH 6,075 5,400 675
7l 4,050
= 2,025
403 X SHMSAH=01H 6,075 5,400 675
Il 4,050
s 2,025
01 XA A= 6,075 5,400 675
O-ONOHIIGN A K& 12 JIS2H 6,075
Jl 4,050
< 2,025
HOH0H TIoHOtS - A SEAI(NATE X2 HEH 125,530 125,530
%)
Jl 62,765
= 62,765
307 elztol & 125,530 125,530
Jl 62,765
=S 62,765
10 Al2SXIAIEEE 22X 125,530 125,530 0
OH0HH Tolots - HAHE SEXJ (XA
EXNJHH 29) 125,530
) 62,765
< 62,765
ZH5Uol 0108 EsAld 22 361,898 360,538 1,360
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M HdsEHeY 2 =X 25
CHel: GiMOIAES U ol (e =
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 299,798
=S 62,100
308 XtXIEMSO0IH 361,898 360,538 1,360
Jl 299,798
== 62,100
01 XN BSELES 361,898 360,538 1,360
O=gllch 01F0d ESAIE 2gXH 361,898
) 299,798
& 62,100
ZH5UloH 0lF0E ESAE HEEY 1,530 8,688 NT7,158
Jl 1,260
= 270
403 THXISHMSAH=01H 1,530 8,688 AT7,158
Jl 1,260
=S 270
01 AXISHHA=2 2L 1,530 8,688 AT,158
OFHUlol OlIF0d EsAlE M2 S 1,530
Jl 1,260
[ 270
Sl 0lF0d & 28XE 247,806 247,206 600
Il 165,204
= 82,602
308 AFAIEHMSOIE 247,806 247,206 600
7l 165,204
= 82,602
01 AXEH B2 LS 247,806 247,206 600
OZ=lldh 0IF0d &4 2¢ 247,806
Il 165,204
== 82,602
e 424 Laiots NEEsit 2d sl 68,850 68,850
308 AXIHS0IA 68,850 68,850
01 HRHHBSEEXS 68,850 68,850
OJtd - 458 UlatE Nggsit 29 &
s 68,850
28t=0 Zoble MY NE 24 80,346 80,346
= 40,173
= 40,173
307 elztol & 80,346 80,346
= 40,173
== 40,173
02 2B YAIHE £ 80,346 80,346
Oge=al ot F8502us =29 80,346
= 40,173
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 40,173
A U =5 02 & XE 17,000 17,000 0
201 et 3| 17,000 17,000
01 At22t2l] 17,000 17,000
OFgHgus & o 12,750
OLNEEA & &9 4,250
g2 AT LA J1gel & X3 10,000 6,503 3,497
201 Let=23 | 10,000 0 10,000
03 A= I 10,000 0 10,000
OgEa 't WAt J1ge & =118
2 A 10,000
ClEshtdgdat & N2es &M 3,612,555 3,466,449 146,106
Il 2,494,543
== 994,012
= 124,000
Ch2stg ed st 3,612,555 3,466,449 146,106
7l 2,494,543
= 994,012
= 124,000
CHEstd &2l gfd 3,612,555 3,466,449 146,106
Il 2,494,543
= 994,012
= 124,000
307 el2to| & 245,650 245,650
1 AMISXAEEXS 245,650 245,650
Ot=2=bHe 243t At 245,650
308 AFAIEHMSOIE 3,366,905 3,220,799 146,106
Jl 2,494,543
= 748,362
= 124,000
01 HASHHBAEEXS 3,366,905 3,220,799 146,106
OUE3tE E4SAI(LSEH) 3,366,905
Il 2,494,543
= 748,362
= 124,000
344 25 2 54 16,670,941 16,743,155 NT2,214
= 713,068
Jl 8,074,952
= 6,958,135
= 924,786
i Azt 6,115,698 7,044,500 928,802
= 135,100
7l 2,485,041
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SN EIIEEMY
Ha: HA
ool HA

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
X #HAE Z017 2E(A2Z4) 21,000 21,000 0
Jl 21,000
308 AHAIEHMSOIH 21,000 21,000 0
Jl 21,000
01 XN B2 LS 21,000 21,000 0
OXIY #AH FH0DII7 2S(AZE4H) 21,000
) 21,000
X HAE &0 2E(=A4) 28,000 28,000 0
Jl 15,000
[ 13,000
308 AXIHS0IA 28,000 28,000 0
Jl 15,000
S 13,000
01 HAHHBSEXS 28,000 28,000 0
OXlY Had 0|7 2E (=B AIL) 28,000
Il 15,000
= 13,000
NLHAEHSSTUSHH 22 (HEAY) 779,783 735,510 44,273
308 XXM SOIH 779,783 735,510 44,273
18 SIS0t 4 A AS At 779,783 735,510 44,273
OF2EHESUEHH 2& & AHHIXIZ 779,783
dad 2 ¥4 ZIZHE =29 57,000 57,000
308 AtXIEMSOIE 57,000 57,000
18 SIS0t HAS A 57,000 57,000
Os3Er 4l eS8y Z2HE 57,000
HAEEAE A (HEAY) 600,000 1,697,000 A1,097,000
403 AXIEHHSAH=201H 600,000 1,697,000 A1,097,000
01 XIS A=E £ 600,000 1,697,000 A1,097,000
OEYTAl EAE 2 HE 600,000
SSELESHAIE SAL MRl X 73,710 73,269 44
308 XXM SOIA 73,710 73,269 441
01 XN B2 LS 73,710 73,269 441
OSEE2ETHEANE SAL MIHEH X
! 73,710
EAESSHAE X AL BIX] X2 A 201,425 309,056 A107,631
Il 201,425
308 XXM SO0l 201,425 309,056 A107,631
Jl 201,425
01 XN B EES 201,425 309,056 A107,631
OFALEHAEX AL BIXI KIRALS 201,425
Jl 201,425
FAE0=E0E 2LHEY 29 7,125 7,125 0
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2A:

MO HAG D5 2 84
ool HAW KR ¥ 25 (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AXISHHA =22 & 120,000 49,000 71,000
O =& Al |2 JIs2d 40,000
OHLCHA| HAd| 2 JISES 30,000
Odd #Faxd=23te & JIs2d 50,000
aadEy 28 K& 1,925,736 1,827,205 98,531
Jl 1,604,781
S 320,955
308 XtXIEMSO0IE 1,925,736 1,427,205 498,531
Il 1,604,781
== 320,955
01 XN BSELES 1,925,736 1,427,205 498,531
O&Exddl 23 1,739,900
Jl 1,449,917
< 289,983
OFALHAENAS 2Y 185,836
Il 154,864
= 30,972
HaESXAE SA MRS 234,950 211,194 23,756
308 XXM SOIA 234,950 211,194 23,756
01 XN B2 LS 234,950 211,194 23,7%
OBAESXAE SAHA M<HAl K& 33,444
OFAE=SAAE OrRIEH UM 2158 Al
2 184,118
OHEAESXAIE SAHAL U5 4H XA 17,388
NAtE] HAASEXZHA #=(5) 456,326 414,326 42,000
J| 228,163
=S 228,163
308 XXM SOl 456,326 414,326 42,000
Jl 228,163
< 228,163
18 SIS0t HAS A 456,326 414,326 42,000
Ok 44 SSXNMA F5 456,326
Jl 228,163
== 228,163
NSAtS SAESEXNHMA F=(AZ3E) 761,805 756,285 5,520
7l 761,805
308 AIXIHHISO0IA 761,805 756,285 5,520
Jl 761,806
01 AXHN B2 LS 761,805 756,285 5,520
OAlZ 344 SEAAMA 2= 761,805
Il 761,805
BAESUA 220 23(%) 70,768 70,768 0
Il 35,384
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2A:

Hu: Fad 25 9 54
ool AW XN U 25 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

< 35,384

308 AtXIEHMSOIE 70,768 70,768 0
Il 35,384
= 35,384

13 SI[2SOHe & EAS A 70,768 70,768 0
Ok EAYE SEHi 2208 2 70,768
7l 35,384
= 35,384

HaESOH T2 2 (A=E4) 775,568 778,728 A3,160
Jl 387,784
< 387,784

308 AXIHMSOIA 775,568 778,728 A3,160
) 387,784
& 387,784

01 HASHHBSEXS 775,568 778,728 A3,160
OAlZ2 Ead SEH} X228 29 775,568
Il 387,784
= 387,784

MY, A2 & Fad SEXE 252,500 163,432 99,068
Jl 252,500

308 AtXIEMSOIE 252,500 183,432 99,068
Il 252,500

01 XN B2 LS 252,500 183,432 99,068
OdgXd, ABXH S F4H SEXNH 252,500
Jl 252,500

st g Had X3(%) 751,308 374,576 376,732
Il 262,203
== 301,605
= 187,500

308 AHXIHMSO0IA 751,308 374,576 376,732
7l 262,203
= 301,605
= 187,500

183 SIS U ZB XA AIE 751,308 374,576 376,732
Ok st 5 F44d X (1NsEH) 751,308
Jl 262,203
= 301,605
= 187,500

st gt FAaE X (A=ZE4) 1,157,894 1,157,8%4 0
Il 1,157,894

308 AHXIEMSOIH 1,157,894 1,157,894 0
Jl 1,157,894

01 RSN B EES 1,157,894 1,157,894 0
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2H HEIIERHD

M. HAE B 2 'Y
ol FaE NEE & 25 (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| 84,583
= 156,636
£ 26,000
308 AXISHMSOIA 267,219 329,743 A62,524
| 84,583
& 156,636
£ 26,000
01 IXSHHBAEES 267,219 329,743 A6B2,524
OAZ &t 8 HAWE ZATA(NSEHA) 136,583
| 84,583
& 26,000
g 26,000
OO0t tHetu =D& SAXIA 130,636
EAaFLAE NEAHAY 24,300 24,300 0
| 12,150
& 12,150
301 LBENF 24,300 24,300 0
| 12,150
= 12,150
01 Al B&EXHZ2(2REETA) 24,300 24,300 0
O&H 48449 NEXY 24,300
| 12,150
= 12,150
EAEAE ASIER2F HIXIXIZ 178,000 146,615 31,385
| 178,000
308 AHXIHM SO & 178,000 146,615 31,385
| 178,000
01 AXSHHBMNELRS 167,439 138,383 29,056
OFEAEAE(AIZ) AMBIE2ERLE IXIXIA 167,439
| 167,439
13 BI| 2 SHICHeHE & =2 EF AL I 10,561 8,232 2,329
OFHLAEAE(E) MIERRE BIXIXIA 10,561
| 10,561
HAAHZSHEE HRME K& 61,392 58,9% 2,397
307 QI2Hol ™ 21,056 18,024 3,082
11 Al =SXAMEES 21,056 18,024 3,032
O0lsg FAEUHR2eIE Mol X3 21,056
308 AXIEHMSOIN 40,336 40,971 AB35
13 SI|2ASHICHEH B A X L EFALH] 40,336 40,971 AB35
OLEE FAULESEH MMAHl X 40,336
HAELZSEE WM WX K& 5,000 0 5,000
| 5,000
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Hu: Fad 25 9 54
ol FaE NEE & 25 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
403 X SHHMSAH=01H 5,000 0 5,000
Jl 5,000
02 SO 2SOt stA=2E 2 €A H] 5,000 0 5,000
OF2E423HlE WiHuT WA XIS 5,000
7l 5,000
F4ddH JIsEd 12,200 12,200 0
Jl 12,200
403 MR SHHMSAH=01H 12,200 12,200 0
Jl 12,200
01 AXEHM A =2 £ 12,200 12,200 0
OBLE=NAE JIsE2S X 12,200
Il 12,200
Yl S5 MEaEA iR 90,460 90,460 0
= 54,276
= 36,184
308 AFAIEHMSOIE 90,460 90,460 0
= 54,276
= 36,184
01 XN B2 LS 18,092 18,092 0
OAlZ QIHUSS dEaE AL HiX 18,092
= 18,092
13 S [2S0He 4 A AS A 72,368 72,368 0
OCIEEl - ADIEE Wo|E HEaE A BiX 72,368
= 36,184
s 36,184
Wees(oaisgx) 139,200 192,720 A53,520
SBEIS(HEIIEZHD) 139,200 192,720 A\53,520
N (Sat=8lI2 3) 01X 139,200 78,300 60,900
311 XL =0lAHare 139,200 78,300 60,900
02 Sst=s8I12AXLS0Atatet 139,200 78,300 60,900
OFaE A4 HE=HE 139,200
HE2IHI(KEI=EF 2 93,120 93,577 A457
JlE2ddl(ogoEzgaa) 93,120 93,577 N457
Jl23HI(0g =T 93,120 93,577 A457
201 ger=3| 40,800 41,990 A1,190
01 At 2|l 40,800 41,990 AT1,190
OWgII=EEH gFFd 40,800
202 04| 39,600 41,327 Al T727
01 =LHO LI 39,600 41,327 A T727
O04II=8H AR 39,600
203 HR=4H 12,720 10,260 2,460
01 D[22 HRFa| 8,400 5,940 2,460
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